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SITTING ARRANGEMENT IN CIRCLE
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Here some Conjunction is also used instead of name of
candidate.
In that case:
* AND / BUT /, / IS — first person
*WHO/WHOM/WHOSE/WHICH - second person



Here some Conjunction is also used instead of name of
= candidate.
In that case:
* AND / BUT /, / IS — first person
*WHO/WHOM/WHOSE/WHICH - second person

In a circle A is 2"¢ left of B who is 37 right of C and is 2"¢ |eft of D.




Q: 6 Boys are sitting in a circle and facing towards the center of the circle.
Sis between B and V.

A Is sitting to the immediate left of V.

R Is sitting to the immediate right of M, but he is not just to the left of V.
Who is second to the right of v ?
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Q:6 (A,B, C,D,Eand M) person are sitting in a circle and facing towards the
center of the circle.

A sits 2"d right of that person who is infront of O.

One person sits between D and B who immediate neighbour of O.

E is facing B.

Who sits immediate left of C ?
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Q: 8 Person A,B,C,D,F,G,M,N sits in a circle facing outside the centre. B

and C are not the neighbour of A. C and G are not the neighbour of D. G is

not the neighbour of D and A. B is not the neighbour of C and G. M is not

the neighbour of B. D is third left of A. F Is just left of D.

Who will sit infront of G?
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Eight people1, 2,3, 5, 6,7and 8 are seated around a

circular table facing to each other.

6 is second to the right of 2 and third to the left of 5.

5 is second to the left of 1.

7 is fourth to the right of 1.

3 is a neighbor of 7.

8 is third to the left of o .

Who will sits 2" right of 8 ?
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m Q: Eight colleagues V,B,T,H,J,N,O,P are sits in a circle table facing the centre. *V sits
- second left of that colleague who is 4t right of N who is not neighbour of O who is not
neighbour of P*N is not infront of J who is sits between H and B. *T is second right of

that colleague who is infront of O who is neighbour of V. Who sits immediate left of P ?
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